





A 1ST GRADE

W PREMIERS
A 3RD GRADE
A 2001-2002

SEASON 2001/2002 25th ANNUAL REPORT





# SUBIACO - FLOREAT CRICKET CLUB (Inc) CONTENTS

BENEFACTORS	2
OFFICE BEARERS	3
AWARD WINNERS	4
PRESIDENT'S REPORT	5
COACH'S REPORT	6
CLUB HISTORY	9
STATEMENT OF FINANCIAL POSITION	10
STATEMENT OF FINANCIAL PERFORMANCE	11
1st GRADE REPORT	12
2nd GRADE REPORT	13
3rd GRADE REPORT	14
4th GRADE REPORT	16
COLTS REPORT	17
MASTER'S REPORT	17
JUNIOR COUNCIL REPORT	18
1st GRADE MATCH RESULTS 1977/78 to 2001/02	20
1st GRADE AVERAGES 2001/02	21
2nd GRADE AVERAGES 2001/02	22
3rd GRADE AVERAGES 2001/02	23
4th GRADE AVERAGES 2001/02	24
SUM OF ALL GRADES AGGREGATES 2001/02	26
BANKWEST CUP AVERAGES 2001/02	28
COLTS AVERAGES 2001/02	29
1st GRADE AVERAGES 1977/78 to 2001/02	30
GOAL SETTING PROGRAMME	36



Season 2001/02 25th Annual Report page 1



# SUBIACO - FLOREAT CRICKET CLUB (Inc) BENEFACTORS

The Subiaco-Floreat Cricket Club would like to thank the following benefactors for their help and support during the 2001/02 Season:

#### **SPONSORS**

Moon & Sixpence Tavern Kirke Securities Ramsavs Retravision **Sports Specialists** Associated Planners Financial Services Wembley Hotel Fitzgerald Realty Holman Industries Wembley Settlements Leahy & Partners Inglewood Hotel Chrystal & Co Richie Hann Photographer Portfolio Design - Glen Bond ITC Project Management WACA sponsors directly supporting the Club: Carlton United Breweries Healthway Kookaburra

#### Performance award donors:

Ridolfo's

Fast Eddies

Moon & Sixpence Tavern

### SPONSORSHIP DRAW WINNER:

Meuleman's Cricket Centre

#### Many thanks to all sponsorship draw participants:

Perth International Tourist Park, Sunpick Orchards, Keith Glew & Assoc. Pty Ltd, Ampol Kingsley, Herdsman Lake Tavern, Lords Sports Club, Western Sport Care, Aspire Fitness Centre, Cat Tech Limited, Hyland & Watts, Cambridge Café 363, Horwath-Perth Partnership, Floreat Growers Market, Floreat World of Travel, Kintech Pty Ltd, Fitzgerald Realty, Wembley Settlements, Associated Planners, O'Meara's Natural Flooring, Osborne Park, Seamer Sports

# Special thanks to all Non-Playing Members and Veterans



# SUBIACO - FLOREAT CRICKET CLUB (Inc) OFFICE BEARERS 2001/02

PATRON Dr Elizabeth Constable, MLA

PRESIDENT Mr J Worland

VICE PRESIDENTS Mr C Beattie

Mr A Boiton Mr D Jones

SECRETARY Mr J Campbell

TREASURER Mr S Kostarelas

MANAGEMENT COMMITTEE Mr K Darragh

Mr S Howman Mr K Payne Mr S Petsos Mr I Plaisted Mr P Thomson

PRESIDENT JUNIOR COUNCIL Mr D Jones

WACA Mr K Payne

DELEGATES Mr D Jones (Juniors)

CLUB COACH Mr N Knight

LIFE MEMBERS T.M. Alderman, L.J. Barnes, A.D. Bolton,

R.D. Burgess, A. Burnet, J.H.E. Dickens, G.W. Fitzgerald, R.G.H. Hann, D.E. Hoare, J.M. Hubble, A.R.B. King, M.C. Lee, K.D. Payne,

D.F. Phillips, D.K. Phillips, J. Rule,

J.W. Rutherford, G.L. Stafford, R.W. Statham

CAPTAINS Mr G Swan (1st Grade)

Mr T Silinger (2nd Grade) Mr D Darragh (3rd Grade) Mr A Bolton (4th Grade)

A GRADE SCORER Mr P Thomson

BANKERS National Australia Bank



# SUBIACO - FLOREAT CRICKET CLUB (Inc) **AWARD WINNERS 2001/02**

CHAMPION CLUB CRICKETER - M.C. BOLTON SHIELD

donated by the Bolton family

Chad Jones

1st GRADE FAIREST & BEST - THE RAY YOUNG AWARD

donated by Dr Elizabeth Constable, MLA, Patron

Gavin Swan

BEST CLUBMAN - GRAHAM LEES MEMORIAL AWARD

donated by John Worland

Danny O'Regan

SPINE AWARD for Spirit, Performance, Involvement, Nature & Effort

(in memoriam Greg Maskiell) donated by Chris Beattie

André Casson

JUNIOR CRICKETER OF THE YEAR - LIFE MEMBERS' AWARD

donated by Kerry Darragh

Lenin Pervan

**EXCEPTIONAL ACHIEVEMENT AWARD** 

donated by Dr Elizabeth Constable, MLA, Patron

Dale Rutherford

MOST IMPROVED CRICKETER

donated by Graham Stafford

Wes Lind

1st GRADE BATTING AWARD - A.D. DREW MEMORIAL TROPHY

donated by the Hann Family

**Murray Goodwin** 

1st GRADE BOWLING AWARD - JOHN NICE MEMORIAL TROPHY

donated by Ron Burgess

Sam Howman

2nd GRADE BATTING AWARD - KARL PLAISTED MEMORIAL

TROPHY -

donated by the Plaisted Family

Chris Payne

2nd GRADE BOWLING AWARD

donated by David Phillips

Wes Lind

3rd GRADE BATTING AWARD

donated by Kevin Payne

Vince Rule

3rd GRADE BOWLING AWARD

donated by Floreat World of Travel

**Brenton Muir** 

4th GRADE BATTING AWARD

donated by Brian Kinsella

Damien Hughes

4th GRADE BOWLING AWARD

donated by Ted Leahy

Michael Winter



# SUBIACO - FLOREAT CRICKET CLUB (Inc) PRESIDENT'S REPORT

The 2001-2002 season was again a very successful one for the club. A Grade were premiers, 3<sup>rd</sup> Grade premiers and both under 15's and the Inverarity Shield sides were premiers. The club has won the minor premiership and Club Championship for the second year in a row. I understand it is many years since a WACA club has been A Grade premiers and Club Champions 2 years in a row. As season 2002/03 is our 25<sup>th</sup> year as a WACA club it would be fitting to add another premiership to our already impressive record.

Our bowling was again our strength and I go as far to say we have the best attack in the WACA competition. However, our batting is somewhat brittle at times and I am sure coach Noel Knight will implement increased practice to overcome this problem as we do have very competent players at the club.

Noel was deservedly appointed Assistant State Coach at the commencement of the season. Congratulations Noel.

Gavin Swan, A Grade Captain, had a great season taking 45 wickets, 9 in the finals. This figure does not include Shield performances. His best effort was 6/21 against Willetton. Gavin was awarded Man of the Match in the A Grade final. He was capably backed up by his deputy Michael Simpson and his teammates. Gavin will be taking long service leave from Trinity College and will shortly leave to play cricket in the UK. He will meet up with teammates Murray Goodwin and Scott Moody. Murray made another very valuable contribution in the A Grade final with a well-timed century and as did Moods taking 5-for in a very professional team performance.

Tim Silinger was again in charge of the seconds. A couple of close games cost them a place in the final 6. André Casson commenced the season as third grade captain. His performance saw him promoted to the seconds and in his one game with the A Grade, batting in the lower order, hit a sparkling 49 n.o to get A Grade home by one run.

David Darragh took over the Thirds from André and took the team on to a premiership albeit he was assisted with the return of André and Vinny Rule. The latter's batting in the second innings saw SFCC win a close final.

Adam Bolton (we went for youth) took charge of the 4<sup>th</sup> grade. He did a commendable job although he had good support from the older brigade in Bernie Le Tessier and Ross McQueen.

Murray Goodwin and Gavin Swan both performed State duties with Michael Clark catching the selectors' eyes in the later part of the season. There were many milestones achieved during season 2001-2002; Gavin Swan with 300 wickets, Steve Glew 3000 runs & 100 games, Sam Howman 100 wickets & 50 games, David Bolton 50 games, Kosta Kapinkoff 50 games, Chris Cann 1000 runs, Rob Campbell 100 games and Michael Simpson 2000 runs. Well done.

Sponsorship is the lifeline of this club and I thank all sponsors for their support and hope you will continue. Now is the time for new sponsors to be part of a successful club. The club financial position has improved but this is mainly due to funds received from winning the premierships.



#### President's report, continued

In an effort to maintain council funding for the preparation of the turf wickets, John Campbell and I presented the club's business plan to council. We were commended by the councillors on the detailed and professional presentation. We hope to receive a favourable response. I would like to personally thank all those who assisted with the business plan with special mention to John Campbell and Graham Stafford.

To members of the committee, I thank each and everyone for your input during the year. To have a successful club the administration must lead the way and you have done that very successfully. I hope you will all nominate for the next season.

I would like to thank the following for their support during the year:

- Joanne Bolton for rostering the afternoon teas and thanks to the mums, dads & girlfriends who assisted. Afternoon tea is part of the team effort and we do require your support.
- Jane and Kylie for the lunches, Phil Thomson scoring, Richie Hann for the photography and Glen Bond for framing the club-championship photos.
- The Town of Cambridge, Mayor Ross Willcock, Councilor Ken McAullay, Councilors, CEO Graham Partridge, Ross Farlekas, Cam Robbins and Geoff and Dave, our curators
- David Clear at the WACA for his assistance to the club.
- Michael Simpson for being MC at our very successful wind up and David Jones and Steve Petsos for co-ordinating the evening.

Looking forward to another successful year in 2002-2003.

JOHN WORLAND President

#### **COACH'S REPORT**

It was always going to be difficult duplicating the outstanding achievements of the 2000/01 season. The Club lost the services of many quality players from last season, however this provided an opportunity for U/17 players to step into senior cricket on a regular basis. This they did with a sense of commitment and passion and, along with other committed players, were instrumental in assisting the Club in its successes this year.

With back to back Club Championships, Minor Premiers in Grades 1 and 3, and Premierships in both Grades 1 and 3, this was again an outstanding season. The Second grade finished seventh and the Fourth grade eleventh. Disappointingly, the senior side was again eliminated in the semi final of the Bankwest Cup and the Colts side failed to qualify in their one-day competition.

Sixty players represented the Club this season with First grade (20 players), Second grade (22 players), Third grade (26 players) and Fourth grade (25 players). It was pleasing to note that eleven junior cricketers represented the Club on a regular basis and all acquitted themselves very well at various stages throughout the season.



#### Coach's report, continued

On a statistical note, in the qualifying fixtures, there were eight hundreds scored and forty nine times a player exceeded fifty runs in an innings and twenty times a bowler took five wickets or more in an innings. These statistics were very similar to the 2000/01 season and reflects just how the two seasons ran in parallel.

In assessing the season, the following comments are made:

#### Pre-season

Training commenced early August and again consisted of fitness work in the form of boxing and light weight routines one night per week and in-door net sessions at the WACA one night per week. The attendance through August and the early part of September were poor and the cause for much concern leading up to the start of the season. Well done to those U/17 players who attended on a regular basis and built a strong foundation for the commencement of their season. I believe the WACA fixturing this season assisted the Club as it was not until the second half of the season that we played those Clubs who finished in the top half of the Club Championship Table.

#### Batting

Last year's report highlighted the need for batsmen to develop a mental toughness which would enable them to be more patience and bat for longer periods. The perennial problem of batsmen failing to go on once getting starts was again a significant factor in some poor batting performances this season, and is supported by the ratio of 50's to 100's scored. Players in all grades must develop a game awareness, which would ensure they were not dismissed at crucial stages of an innings and must also be prepared to develop their game outside the normal training sessions. Until they are prepared to do this, they will be dogged by inconsistent batting performances.

#### Bowling

I don't believe our bowling was as strong through the grades this season with many of the players who didn't resume playing duties with the Club being bowlers. However, it is interesting to note that the bowling statistic of twenty five-wicket hauls was slightly better than last season. It was the second and fourth grades which were a little undermanned in this area, and I consider the captains of the respective grades did a marvellous job manipulating their bowling attacks to ensure relatively successful seasons.

#### Fielding

This facet of the game was of a generally high standard although some lower grade players need to show significant improvement. This will only occur with a real desire to improve and consistent quality practice.

#### Training

In the main, training was well attended and conducted in a professional manner. However, the perpetual problem where many players arrived late or having arrived on time are slow preparing themselves in readiness to start training is still cause for concern.



#### Coach's report, continued

#### Practice Wickets

The practice wickets are sub standard and quite dangerous and the Club administration is working hard with the Town of Cambridge to remedy the situation. To the player's credit, they have been familiar with this situation for many years and accept the situation. Any improvement in this area would be most welcomed by the players and I'm sure any improvement in these facilities would be reflected in improved batting performances.

#### • State Representatives

Well done to Gavin Swan, Murray Goodwin and Michael Clark who all represented Western Australia at 1<sup>st</sup> Class level. Also to Sam Howman, Steven Glew and Kosta Kapinkoff who were selected to represent Western Australia at 2<sup>nd</sup> Eleven level. It is hoped next season will provide opportunities for those and other SFCC players to represent their State.

Along with the players, many people have made significant contributions to our success this season. To Chris Beattie, Kerry Darragh, Alan Bolton, Jim Hubble, Ian Herbert, Craig Harmes, John Worland and the Club Committee and the respective grade captains Gavin Swan, Tim Silinger, André Casson, Dave Darragh and Adam Bolton, I thank you all for your efforts.

Having achieved the great heights of success over the past two seasons it is vitally important the Club doesn't rest on it laurels and think that success will be automatic. We as a Club are now gauged as the "yardstick" by other WACA Clubs and must all strive to improve our respective performances whether it be as a player, coach or committeeman. If we can continue to achieve this then I'm confident that SFCC will remain at the pinnacle of the WACA competition.

I look forward to renewing my relationships with everybody next season.

NOEL KNIGHT Club Coach



#### SUBI-FLOREAT'S HISTORY

The Subiaco Cricket Club was admitted to the Western Australian Cricket Association in 1907 and was formed from the remnants of a mercantile cricket club based at Whittaker's timber mill in Subiaco. The Club played originally at Subiaco Oval before re-locating to Rosalie Park in the 1960's. Some of the better known Subiaco players were Johnny Rutherford, Jim Hubble, Des Hoare and a certain R. J. Hawke.

The Floreat Park Cricket Club was founded in 1956 and admitted to the Western Australian Cricket Association as a 2nd Grade Club. The most famous players to be produced by the Floreat Park Club were Australian Test players Kim Hughes and Terry Alderman who both went to the Subiaco Club to play 1st grade cricket before returning to Floreat Oval when the two clubs merged.

The Subiaco-Floreat Cricket Club was founded in 1977 as a result of the amalgamation between the Subiaco Cricket Club and the Floreat Park Cricket Club and commenced playing in the 1977/78 season. Ray Young was the inaugural President and Paul Nicholls the inaugural 1st Grade Captain.

In the season 2000/01, we won the club championship by a margin of 300 points, which was the largest winning margin on record. In 2001/02, we became the first club since 1982/83 to win back-to-back 1<sup>st</sup> Grade premierships, the first club since 1986/87 to win back-to-back club championships, and the only club in the history of the WACA competition to win back-to-back club championships and first grade premierships.

#### **CLUB PREMIERSHIPS**

1ST GRADE	2ND GRADE	3RD GRADE	4TH GRADE
1987 - 88	1980 - 81	1986 - 87	1982 - 83
2000 – 01	1990 - 91	2001 – 02	1983 - 84
2001 – 02	1993 - 94		1984 - 85
			1990 - 91
			1994 - 95
			2000 - 01

#### **COLTS PREMIERSHIPS**

1983 - 84 1997 - 88 1998 - 99 2000 - 01

#### **CLUB CHAMPIONSHIPS**



# **Statement of Financial Position**

As at 30 April 2002							
73 at 00 April 2002	2001/02 \$	2000/01 \$					
Accumulated Funds							
Opening Balance Net Profit/(Loss) Total Accumulated Funds	24,629 (132) 24,497	22,194 2,435 24,629					
Represented by:							
Current Assets Cash							
Cash at Bank - NAB term deposits NAB cheque account CBA term deposit	16,538 8,365 2,963	5,982 11,960 2,849					
Accounts Receivable WACA Trophies	250	2,200 350					
GST recoverable Fees Inventory	1,810 2,800	3,174					
Cricket Equipment Clothing, Ties & Wine Total Current Assets	1,126 1,496	1,278 2,121					
	35,348	29,914					
Non-Current Assets Plant & Fixtures Less: Accumulated Depreciation Total Non-Current Assets Total Assets	4,742 (3,588) 1,154 36,502	4,742 (3,273) 1,469 31,383					
Current Liabilities Creditors & Borrowings Accounts Payable	E 220	6 754					
Provision for Alderbury wicket replacement  Total Current Liabilities  Total Liabilities	5,338 6,667 12,005 12,005	6,754 					
Net Assets	24,497	24,629					



# **Statement of Financial Performance**

For the Year ended 30 April 2002

i oi dio i odi olidod oo April 2	.002	
	2001/02	2000/01
	\$	\$
	•	•
INCOME		
	11 500	0.020
Subscriptions: Senior	11,500	9,830
Non Playing	2,020	1,454
Coaching Clinic	<del>-</del>	732
Profit on Bar and Food Trading	2,541	6,643
Profit on Sales of Caps, Shirts, etc.	296	(2,584)
Donations	500	45
Fund Raising	2,150	1,700
Interest Received	670	5
Sponsorship	5,850	5,781
Aust Cricket Board equipment grant	7,030	-,
WACA Receipts: Grant	16,070	15,300
Prize-money	9,050	9,400
Ground hire	9,030	3,400
Ground fille		40.206
	57,677	48,306
EXPENDITURE		
Bank Fees	777	630
Cleaning	912	642
Cricketing Costs	10,380	19,651
Depreciation	315	315
Electricity	959	979
Equipment (2001/2 - \$3,500 for sight screens)	12,407	7,855
Functions – subsidy for trophy night	2,187	763
General Expenses	1,603	1,596
Ground/Pavilion Hire	10,114	5,445
Ground/Wicket replacement Alderbury	6,667	3,443
	•	-
Hire of Plant & Equipment	638	628
Insurance	1,469	1,995
Interest Paid	-	14
Licensing Fees	150	105
Postage, Printing & Stationery	3,142	953
Repairs & Maintenance	1,107	670
Scoreboard Attendants	_	41
Telephone	471	292
Trophies	1.059	724
WACA - Fines	35	235
WACA - Umpires	2,500	2,338
Website costs	2,500 917	2,330
AAEDSIE COSIS		45.074
AL ( PA POLICE )	57,809	45,871
Net Profit/(Loss)	(132)	2,435



# SUBIACO - FLOREAT CRICKET CLUB (Inc) 1st GRADE'S REPORT

Over the Easter weekend the first grade managed to cap off a mixed, but successful, season with the premiership. When Sam Howman scooped a catch centimetres from the turf off Scott Moody's bowling, South Perth were found 66 runs short and more importantly Subiaco-Floreat became the first side in 20 years to win back to back first grade premierships.

Sitting around afterwards in Michael Simpson's front yard, the team was comparatively subdued and overly reflective at the same scene as after last year's premiership. As an excuse to keep the celebrations rolling, the phrase 'It's not everyday you win a premiership' was coughed out, as another stubbie was funneled down. Well, as Simmo pointed out at the presentation dinner, it's not everyday you win a premiership, but it's becoming a fairly regular occurrence for the boys.

As the celebrations flow into the winter months I would like to congratulate the 13 players who contributed to the first grade premiership. I would also like to take this opportunity to congratulate the Thirds on their premiership and also David Jones and the juniors who delivered both the Inverarity Shield and U/15's flags.

The first grade season started well with solid victories over some of the less competitive teams. By Christmas were on top of the table mainly due to our ability to capitalise when the opportunity presented itself. An outright win over Rockingham-Mandurah and a first innings result over Mt Lawley after rain shortened the game to a day, meant we had top spot at Christmas. Our strength, as always, was our ability to bowl sides out. Sam Howman was particularly impressive early and was selected in the State 2nds along with Michael Clark, Steven Glew and Kostadin Kapinkoff, all of whom also started strongly.

The second half of the regular season proved frustrating. We rarely made a score over 200 during this period and momentarily lost top spot. It was once again our bowlers who kept us on the winners list with devastating displays of seam and swing bowling on some bowler-friendly wickets. One bowling effort and one batting effort stood out clearly leading up to the finals. After being reduced to 145 against Willetton at Floreat Oval, we came out with our tails up and thanks mainly to Gavin Swan (6/21) had them 9/34 overnight setting up a much need outright victory. Secondly, out at Lilac Hill, we suffered 359 on day one against the 'towners. In the face of adversity, following some insipid displays with the bat in weeks preceding, a team effort saw us within a hundred runs before another mini collapse seamed to have the game beyond our grasp. Scott Moody and André Casson (on debut) then put on 98 runs in 57 minutes to steal the match in the last over. This was one of the true highlights of the year.

We did finish the season on top and made the Grand Final. Like the previous year we met the team we lost to in the elimination final. The Grand Final was one of those games where, typical of our team, we did it hard but produced the goods when it counted most. Kosta, our most consistent batman over the year, made 79\* not out in a first innings of 188 and when South Perth survived a spirited assault from our bowlers to lead by 53 runs on the first innings, it was time to stand up. We responded with 335 declared thanks to an opening stand of 126 from David Bolton and Robbie Campbell and a superb century from Murray Goodwin. Scott Moody tidied up a tense final innings taking 5 wickets and South Perth were left 66 runs shy of victory. Swanny was man of the match with seven wickets.

This year we once again reached the semi-final stage of the Bankwest Cup only to be soundly accounted for by Willetton. We had played some good cricket to get to that stage and I'm sure next year we will have another crack at the elusive one-day crown.



#### First Grade's Report, continued

Individually Sam Howman won the bowling award following his best season, Murray took the batting after finishing the year strongly and Swanny made life easy for Phil Thompson by winning the best and fairest again.

A special mention must go to Phil Henryon and Daniel Barnes. Both made considerable contributions throughout the year as part of the side and missed out on Grand Final selection. Dan was particularly unlucky missing only one game all year, and that was due to illness.

Finally Swanny asked me to pass on his thanks to the committee for all their support and all the non-playing members, mums, wives and dads who give up their time to organise afternoon teas, attend the scoreboard or just come down and support the boys.

Special thanks to Noel Knight who once again produced the goods. This was Noel's fourth consecutive A grade premiership so life has been deprived of beer and skittles for some time, eh Hammer? Also thanks once again to Phil Thompson who pens the neatest and most confusing scorebook in the competition. Phil has any statistic you need at any time you need it, and often stats you don't need when you don't want them. Phil also donates the fairest and best trophy for the first grade. Cheers Phil!

The first grade hasn't been won three years in a row for about 80 years. With a strong club and a good bunch of blokes working together, we'll be back next year to give that a good shake.

#### **CHRIS CANN**

(on behalf of 1st Grade Captain, Gavin Swan, who is playing cricket in the UK).

### 2nd GRADE CAPTAIN'S REPORT

Although very disappointing at the time to lose our last game and drop out of the top six, there were a lot of positives to come out of the season. Looking back and considering the number of players lost to the previous season the side did fairly well to finish seventh.

The successful season by first year players Chad Jones, Wes Lind, Ian Hyland and Sam Pearce was a huge bonus and each made match-winning contributions throughout the season. The performances of senior players Chris Payne, Vince Rule, Dan O'Regan and André Casson showed that they still have a few good seasons left in them.

The batting was the best part of our game during the season. We made over 300 six times during the season and only failed to make 200 twice. The most pleasing aspect of this was the number of big partnerships that were put together which often ensured we made decent scores. The best being a stand of 207 between Chris Payne and Dan O'Regan against Willetton with both of them making centuries.

George Christedoulou returned to the club after a stint in Albany and had an outstanding season. Doing the toughest job in the business, opening the batting, George came close to playing A grade several times and a spot in that side shouldn't be too far away. Chris Payne and Dan O'Regan also had great seasons batting in the middle order, with Chris taking out the batting award and Dan, after briefly being dropped to 3's fighting his way back to play a couple of A grade games.



#### 2nd Grade Captain's Report, continued

The bowling at times lacked penetration, however the opposition sides only made 300 once (and Willetton still lost). The two best bowlers Wes Lind and Ian Hyland were both playing their first year in seconds and both had a taste of A grade. If they both keep working hard at their games they will become regular A graders for the club.

Chad Jones also had an outstanding season. After a shaky start to the season his batting and wicket-keeping improved immeasurably over the season, culminating with him winning the cricketer of the year award for the club.

The highlight of the season for me was our performance (or recovery) against Joondalup. In a must-win game for the team, we slumped to 5/35 early on the first day. With the top five batsmen in the pavilion, it was left to Chad Jones and the bowlers to make a defendable score. With Chad making 127 and the bowlers each making contributions to make 9 declared for 341 was quite remarkable. An unbroken stand of 93 for the last wicket between Wes Lind and Gianni Di Rosso left the Joondalup players shattered. The following day a hard working team performance saw Joondalup all out for 261, and a great victory had been achieved.

The season has been another very enjoyable one playing for S-F and especially being part of back-to-back club championships. Thank you to Noel Knight and the committee for your support during the season, and to the players for making the job of captaining the side very easy.

TIM SILINGER
2<sup>nd</sup> Grade Captain

#### 3rd GRADE CAPTAIN'S REPORT

The 2001/02 season saw the threes win its first premiership since Ross Bolton was at the helm in the 1980's. A memorable six-wicket victory over arch-rival Joondalup in the Grand Final was just reward for the hard work of a close-knit team which had lost only one game during the season. I don't think any of the team will forget the feeling of winning the game after playing stunning cricket on the third day of the four-day grand final. Not only did it allow an extra day of celebrations but it was fitting that we saved our best cricket for when the most important game was there to win.

We lost six players from last season's team which was knocked out in the semi-finals. But the return to the club of a couple of the 'old school' bolstered the team. Gianni Di Rosso, resplendent in Subi's premiership tracksuit from the 1987-88 season, Justin Swan and Anthony Tsokos all played big roles in the team's success.

Through attacking and disciplined cricket the team won 12 of the 13 qualifying games to finish minor premiers with only a loss to Joondalup in the penultimate round. The fact that we won seven very close games was indicative of the competitiveness and spirit of all players who represented the thirds. It also pointed to the even contributions from both batsmen and bowlers, who were able to step up and share the responsibility when the side was in trouble. Memorable wins against Wanneroo, Gosnells, South Perth and Scarborough gave the team confidence when it came to playing under finals pressure.



#### 3rd Grade Captain's Report, continued

The team then won all three finals games. A fine century by Vince Rule and devastating bowling by André Casson and Dos saw us humble last season's premiers Bayswater-Morley in the first final. We had to dig deep for a last gasp 14-run win over Wanneroo in the semi-final. Cas again proved a match-winner with 5 wickets and some valuable runs.

The four-day grand final at Fletcher Park shaped as a Big Brother-like test. Not only were most of us facing four days of cricket for the first time but we also had to spend that time in a confined space with Vinnie Sandhu and Darwin speedster Brenton 'Mad Dog' Muir. Despite these worries, the game proved a triumph for our team spirit and was a tremendous experience for all. After a see-sawing first two days when Joondalup regained the initiative to lead by 14 runs on the first innings, the team was able to refocus and devastate the Centurions on a dramatic third day. At one stage Joondalup's batsmen were cruising with a lead of 130-odd and 7 wickets in hand. But a miracle ball from Tsoks lifted everyone's spirits and produced a collapse of 7 for 35 which left us chasing 168 runs to win. Dos. Mad Dog and Tsoks did the damage.

There were a few tense moments during a scintillating run chase that saw us reach 100 off about 17 overs. Despite losing some quick wickets we were able to grind out the last 50 runs to win a fantastic game. Man-of-the-GF Vinny Rule (90 not out) and Sam Pearce (46) led the way. It was pleasing that every player made a contribution during the match.

Throughout the season, big efforts by gun batsmen Vince Rule (two centuries) and Sam Pearce and tireless bowling from 'Mad Dog' (41 wickets), Dos (30-odd wickets) and André Casson set up many wins. But many others chipped in regularly to make us a formidable team.

Several young players emerged including big left-handed opener Andy Malajczuk and all-rounders Alex Malcolm, from the under-17's, and Chris Hansberry, from the under-15's. Both Alex and Chris bowled well in several close games and demonstrated their maturity and good cricket brains. All three look set to develop into excellent players for the club.

There were 25 players who turned out this season and all should be thanked for their support and contribution to both the team and the club's success over a long season. Several players, particularly Paul Isaachsen, Adam Bolton and Joel McShane, were unlucky not to have played during the finals campaign after some good performances. Special mention must go to brilliant wicket-keeper/batsman Vinnie Sandhu for his enthusiasm and courage in playing through the finals while sick and Mags who was always there to support the team despite missing out on a finals game. A strong mix of personalities who were all determined to win for the team made it an enjoyable and successful season. Hopefully most players will return next season with the desire to improve and a taste for more success.

Thanks must go to club coach Noel Knight and Cass who captained the team to five wins at the start of the season before winning promotion to the seconds. Cass returned to play an inspirational role in the finals and his leadership assistance was much appreciated. Also thanks to John Worland and the committee for their part in another successful season for the Lions.

DAVID DARRAGH 3rd Grade Captain



# SUBIACO - FLOREAT CRICKET CLUB (Inc) 4th GRADE CAPTAIN'S REPORT

Looking back at this season, it proved to be far less fruitful than last year. We started the season as reigning premiers, and after the first seven rounds we were playing as though we would be again, with five wins, a loss, and tie. Christmas proved to be the let down for our side as we failed to produce a victory in the remaining six rounds. Despite this, we still managed to play some exciting cricket, many games of which we can look back on and learn a great deal. The side this year was a much younger side, with the core of players aged less than 20. It was no secret that when the right mix of players was found we played our best cricket.

The side this year uncovered some potential that surprised a lot of people. Many of the under 17 players played 4<sup>th</sup> grade cricket and coped with it extremely well. Lenny Pervan was a stand-out this year, not only as a player but also a personality as well. His 28 wickets at 23 won him the Junior Cricketer of the Year, Lenny also had the ability to finish opposition innings regularly, whether it be by taking wickets or getting hit into the river. Ben Hansberry wicket kept all year and did so outstandingly - he made 326 runs this year at 26 and took 32 dismissals for the year. Dale Rutherford also showed a great all-round ability, opening the innings on occasions as well as taking a hat-trick against Uni, his second for the year. Shane Townsend and John Stoykovski also managed to make the transition into senior cricket with ease, as did Dave Collin-Thome and Chris Hansberry.

Damian Hughes had another outstanding year in the 4's, scoring 126 against Claremont-Nedlands, as well as taking 20 wickets (including 3 five-wicket hauls). Hughesy also featured in a 210 run opening stand with Adam Bolton against Claremont-Nedlands. Mickey Winter led the bowling attack this year, and did so fantastically. Mike took a wicket of the first ball of the season, took 7/39 against Mt Lawley, and finished the year with 29 wickets at 18. Joel McShane played a lot of 3<sup>rd</sup> grade cricket this year, but when he played for us he stabilized the top order and showed talent that far exceeds that required for 4<sup>th</sup> grade. He ended with 290 runs at 29, including an 88 against Scarborough. Ross McQueen dominated with the bat this year, scoring 240 runs at 40. Ross's ability to take apart the better attacks proved more than handy, as most of his major contributions with the bat came against the better sides.

To Bernie Le Tessier, congratulations on becoming a father - captaining this side proved to a lot harder than you made it look last year. Bernie managed to keep his record intact this year by captaining one game against Gosnells, and winning. Robbie Parr, Brad Barnes, Justin Stafford, Jon Symington and Steve Traynor also made appearances for the team, and provided a very unique team atmosphere to the games.

Although the team didn't manage to achieve the success that we had hoped for, being a part of such a successful and dominant club is a great privilege for all our players. Congratulations to the A-grade and 3<sup>rd</sup> grade for their success, and to a club as a whole for winning the club championship for the second year running. Thanks goes to Hammer and Kerry Darragh for the help you guys gave me this year, and also to Ross and Bernie for captaining when I couldn't. It was an honour to captain the side this year, I have learned a lot, as has the team, and we all hope to be back next year to continue the success of this club

ADAM BOLTON
4th Grade Captain



# SUBIACO - FLOREAT CRICKET CLUB (Inc) COLTS XI

The colts enjoyed less success this season than we have been accustomed to, as we failed to make the quarter-finals of the competition. Perhaps the most disappointing aspect of the year was that we only got to play two games, meaning the boys had less time than usual to acclimatise as a team.

We took to the field against Perth in the first match and proceeded to take part in quite a spectacular batting collapse. Through all the carnage debutant Adam Bolton batted with great application to score sixty and together with Vin Sandhu give us a total of 160 to bowl at. Although we bowled and fielded well we did not have enough runs on the board and were forced to listen to the Perth boys' childish antics at the conclusion of the game.

Our next fixture was about three months later against Bayswater-Morley. We had to win and win big if we were to make it to the next round. Despite another negative result the boys played with great spirit and did themselves and their club proud. Once again the newcomers were the stars with Lenin Pervan bowling brilliantly in his first game. Although the results were not as planned the emergence of the new crop of youngsters is very exciting for the club and should hold us in good stead for the colts' competition next year and beyond.

Finally I would like to thank Alan Bolton and Daniel Barnes for their support in organising the guys on match days. Congratulations to the club for another stellar year and let's hope we can do it all again with another colts premiership setting the trend.

# DAVID BOLTON Captain/Coach

#### **MASTERS REPORT**

Another enjoyable season for the Subi-Floreat Masters, although it must be said not our most successful. The season started poorly with a washout and then a spectacular batting collapse cost us dearly in the second game against Claremont-Nedlands. Chasing 211 we collapsed from 1 for 42 to 9 for 59 before Wayne Davies (29 not out) and Frank Collins (38) gave our score some respectability, 127.

The highlight of the game was the return to the field of John Hurst who had not played for 15 years. Unfortunately he did a hamstring while batting, being run out in the process.

Our next outing was against Perth and we made 180 with Hayden Chrystal (56) Bruce (Arnie) Palmer (26) and Chris Smailes (15) leading contributors. Unfortunately it took Perth only 32 overs to reach 6 for 181. A couple of 3rd Grade players certainly helped their cause. Joe Santos hit us all over the ground but he was coming off a run of 3rd Grade scores including 180, 120, and 70. On the bright side our fielding was terrific with some great catches. Angelo Porcaro frustrated three batsmen out by bowling slower than ever and ending up with 3 for 16.

Our game against Mt Lawley was a close fought encounter but we ended up on the wrong side of the final result. John Hurst returned to the side and scored 57, and Greg Catlin opened and scored 28. A score of 171 was not enough to beat Mt Lawley despite Wayne Davies taking 3 for 35 in a terrific opening spell of nine overs. The Milentis twins proved difficult to dismiss and they saw the visitors home.



#### Master's Report, continued

Scarborough was always going to be a difficult game - 8 of our players were in Margaret River for the Leeuwin Concert. I contemplated a change of venue for the game. We put together a makeshift team and made a very crediable 5 for 176. Graham Stafford (52 not out), John Hurst (34) and one of our new players Antony Thornton (44 not out) were the main scorers.

Unfortunately Scarborough made the required runs from 36 overs. I have to confess that my three dropped catches did not aid our cause.

The final game of the season was at home against Rockingham/Mandurah. Again our afternoon tea was a huge highlight. We batted first and struggled to get on top. Greg Fitzgerald made 44 but not his fluent best. A run a ball 40 run partnership between the Captain (17) and Bruce Palmer (38 not out) saw us through to 8 for 157.

Wayne Davies bowled 9 overs 1 for 25 and Frank Collins 5 overs 2 for 16 got us off to a good start until Frank limped off. He joined Greg Fitzgerald with a pulled hamstring – Greg Catlin and I shared the wicket keeping. I can testify to the fact that 50 is not the right age to take up wicket-keeping – my first ever attempt at this art form.

Rockingham/Mandurah showed a great weakness for slow "off-spin" bowling. The three oldest members of the side bowled 11 overs between us (Paul Forrestal, Graham Stafford and yours truly) and took 6 for 9. They were all out for 109.

An important lesson from the game was that if Arnie Palmer could compete in a triathalon in the morning then bat (38 not out) and bowl (1 for 5 from four overs) the way he did triathlons, it will be the standard warm-up exercise for all future Masters matches.

It was an enjoyable season ending on a high. The contribution of the Masters to the club is important both financially and in terms of keeping past players connected. It has been a pleasure to be part of the team again this season.

# LARRY DAVIES Master of Masters

#### JUNIOR COUNCIL REPORT

After a disappointing last couple of seasons the 2001/02 season saw the Subiaco-Floreat Junior CC rightfully reclaim its position as a powerhouse in the WACA under-age competitions by winning two Premierships out of the three age divisions in which it competed.

The season again unearthed numerous young cricketers with the potential to progress through to senior ranks but special recognition should be made of the following boy's achievements:

- Chris Hansberry for his selection in the State Schoolboy's team that travelled to Bendigo following a season that included 2 centuries in under-age cricket and a 6-wicket haul playing for the Third's.
- Phillip Edwards for his selection as an opening batsman in the State U/17 team that participated in the National Championships.



#### **Junior Council Report, continued**

 Alex Malcolm for being chosen as the WACA U/17 Cricketer-of-the-Year in recognition of a fine season in under-age cricket. He was also in Hale School's Darlot winning team, a valuable contributor in the Third's when available, and scored 3 centuries to cap off a remarkable season.

The Inverarity Shield (U/13) has traditionally been a competition which Subiaco-Floreat has dominated and this year proved no different with our boys going through the season undefeated. Coached by Graeme Allen, ably assisted by Tony Murphy and well captained by Tim Monteleone, this young team of cricketers simply had too much depth in their batting, bowling and fielding for the rest of the competition. Although they were given a brief fright in the Grand Final by their opponents Claremont-Nedlands, following a top order batting collapse, it was again their batting depth that came to the fore and assured the boys that they finished the season as worthy winners of another Inverarity Shield. We will continue to watch with great interest the development of these young cricketers as they progress through the junior ranks.

The U/15's were the other victorious team to win a Premiership flag. Coached by David Hansberry, the majority of these boys were in the Inverarity Shield team that finished runners-up two years ago and were determined to go one better this time around - and did!

For most of the season they were sitting in the Top Four, but their form, and in particular their batting, had been a bit indifferent. However as the finals approached and needing to win all three of their last qualifying matches to ensure a finals berth the whole team lifted and they stormed home to easily qualify. During the finals they probably played their best cricket of the season, and had convincing wins in the semi-final by 5 wickets, and by over 100 runs in the Grand Final. Most of the boys from this team will be moving up to the U/17's next season and such is the talent in this squad we look forward to a number of them also pressing for selection at senior level.

The U/17 team had a year which started with much promise but never quite followed through, and, with a win/loss ratio of 5:5, finished the season mid-table. Inconsistency with the bat was the hallmark of the season, three times being dismissed for less than a hundred but subsequently twice successfully chasing totals over two hundred. Bowling was the team's strength throughout the season, with everyone contributing and highlighted by a Dale Rutherford hat-trick. In addition to their U/17 commitments, a number of this year's team were also selected at various times through the season to play senior cricket in either the thirds or fourths. When given the opportunity, it was encouraging to see that they could hold their own at this level, and they will no doubt be better players for the experience gained over the season.

In closing I would like to thank all those boys who played their final year of junior cricket with the club for their efforts over the years and wish them every success in their senior cricket careers.

I would also like to thank my Committee, and the various Coaches, Managers, Parents and Players who have all contributed to another very successful season - we look forward to your continued support and success next season.

DAVID JONES
Junior Cricket Council President



# FIRST GRADE MATCH RESULTS 1977/78 TO 2001/02

LIVO	I GIVADE INVIOL	IVEOOF	10 1011110 10	2001101
Year	Played	Won	Lost	Drawn
1977/78	12	-5	7	-
1978/79	14	11	3	-
1979/80	14	9	4	1
1980/81	14	10	3	1
1981/82	13	3	9	1
1982/83	12	3	8	1
1983/84	14	5	8	1
1984/85	14	5	7	2
1985/86	14	7	4	3
1986/87	14	6	5	3
1987/88	17	11	6	-
1988/89	14	3	6	5
1989/90	14	5	5	4
1990/91	13	8	4	1
1991/92	12	5	6	1
1992/93	12	2	10	-
1993/94	12	5	7	-
1994/95	12	3	9	
1995/96	12	5	6	1
1996/97	12	5	7	-
1997/98	12	3	9	-
1998/99	14	8	3	3
1999/00	12	6	4	2
2000/01	16	13	3	-
2001/02	<u>16</u>	12	4	<del>_</del> _
	335	158	147	30



## 1st GRADE BATTING AVERAGES

		V. W. LD L		10 / 11				
Player	Matches	Innings	Not outs	Runs	Top Score	50's	100's	Average
Goodwin M	11	13	1	607	123	4	2	50.58
Kapinkoff K	16	22	5	620	84	5		36.47
McKeown P	1	2		58	48			29.00
Glew S	15	21	3	504	110	1	1	28.00
O'Regan D	2	2	1	28	19			28.00
Bolton D	14	22		528	136	· 1	1	24.00
Cann C	16	22	5	398	82*	1		23.41
Barnes D	13	18	4	320	68	2		22.86
Simpson M	15	17		332	80	1		19.53
Kinsella D	7	10	1	170	58	1		18.89
Campbell R	5	8		141	50	1		17.63
Moody S	15	17	2	207	44			13.80
Howman S	15	16	7	102	17*			11.33
Swan G	15	11	6	51	16			10.20
Clark M	12	9	1	58	17			7.25
Swan J	1	1		5	5			5.00
Henryon P	7	4	1	12	8			4.00
Casson A	1	1	1	49	49*			~
Hyland I	3	1	1	4	4*			~
Jones C	1	1	1	-	0*			~

#### 1st GRADE BOWLING AVERAGES

ist Grade Bowling Averages								
Player	Catches	Overs	Maidens	Wickets	Runs	5w/lnn	Best	Average
Glew S	14	2	1	1	6		1/6	6.00
Howman S	6	282	87	42	657	2	6/35	15.64
Clark M	3	251	75	35	558	1	5/41	15.94
Swan G	11	320	101	45	824	4	6/121	18.31
Campbell R	7	30	4	6	110		3/45	18.33
Moody S	7	231	51	39	812	2	7/134	20.82
Henryon P	-	72	8	12	271		4/25	22.58
Swan J	-	6	1	1	24		1/24	24.00
Bolton D	8	11	3	1	26		1/1	26.00
Hyland I	2	38	16	2	69		2/39	34.50
Cann C	5	4	1	-	7			~
Goodwin M	6	1	-	-	2			~
Simpson M	36 + 1 stu	ımping						-
Kapinkoff K	5							-
Kinsella D	5							-
Jones C	2							-
Barnes D	1							-
McKeown P	1							-



Barnes D

# **SUBIACO - FLOREAT CRICKET CLUB (Inc)**

## 2nd GRADE BATTING AVERAGES

ZIIG GRADE DATTING AVERAGES								
Player	Matches	Innings	Not outs	Runs	Top Score	50's	100's	Average
Di Rosso G	3	3	2	72	58*	1		72.00
Pearce S	7	8	1	278	88	2		39.71
Payne C	12	12	-	453	105	3	1	37.75
Christadoulou G	13	17	2	497	86	3		33.13
Swan J	5	5	1	130	51*	1		32.50
Barnes D	3	3	-	94	71	1		31.33
Jones C	12	14	1	407	127	1	1	31.31
O'Regan D	13	14	-	428	107	2	1	30.57
Botsis S	2	2	-	61	52	1		30.50
McKeown P	2	6	1	151	61*	1		30.20
Lind W	13	13	7	172	46*			28.67
Rule V	9	12	3	250	81	1		27.78
Bolton D	1	2	-	40	33			20.00
Kinsella D	6	8	-	145	28			18.13
Casson A	8	9	-	141	38			15.67
Silinger T	13	14	1	163	44			12.54
Hyland I	11	10	3	86	17			12.29
Isaachsen P	5	4	-	15	6			3.75
Campbell R	2	2	2	43	22*			~
Henryon P	4	1	1	-	0*			~
Muir B	1	-	-	-	0			~

## 2nd GRADE BOWLING AVERAGES

2nd GRADE BOWLING AVERAGES								
Player	Catches	Overs	Maidens	Wickets	Runs	5w/lni	n Best	Average
Bolton D	-	16	3	3	34	-	3/26	11.33
McKeown P	-	21	11	3	42	-	2/10	14.00
Henryon P	2	69	13	12	202	-	4/33	16.83
Casson A	3	96	25	13	247	1	5/30	19.00
Campbell R	-	46	7	7	140	-	4/71	20.00
Isaachsen P	3	71	17	10	202	-	3/27	20.20
Hyland I	2	181	51	20	414	2	5/18	20.70
Swan J	2	52	7	8	174	-	3/20	21.75
Lind W	8	212	45	29	639	-	4/55	22.03
Silinger T	6	202	43	17	557	1	5/36	32.76
Muir B	1	16	7	1	42	-	1/42	42.00
Di Rosso G	-	37	5	3	139	-	2/24	46.33
Botsis S	-	25	3	2	107	-	1/31	53.50
Rule V	5	2	-		10	-	-	~
Jones C	27							
O'Regan D	9							
Payne C	7							
Christadoulou G	6							
Pearce S	2							



## **3rd GRADE BATTING AVERAGES**

SIG GRADE BATTING AVERAGES									
Player	Matches	Innings	Not outs	Runs	Top Score	50's	100's Average		
Rule V	7	8	1	493	116	3	2 70.43		
Campbell R	2	2		97	52	1	48.50		
O'Regan D	1	1		42	42		42.00		
Pearce S	9	12	2	395	79	2	39.50		
George S	8	9		252	72	2	28.00		
Di Rosso G	14	14	8	142	51	1	23.67		
Casson A	8	8	1	153	49		21.86		
Tsokos A	15	16	2	281	48		20.07		
Stoykovski J	4	4	3	20	13		20.00		
Malcolm A	7	9	2	134	70	1	19.14		
Malajczuk A	14	18	1	320	69	1	18.82		
Darragh D	16	17	2	273	48		18.20		
Swan J	10	11		192	47		17.45		
Bolton A	3	5	1	69	21		17.25		
McShane J	4	5		84	36		16.80		
Sandhu D	16	19		313	65	1	16.47		
Edwards P	9	12	2	158	86	1	15.80		
Townsend S	1	2		28	16		14.00		
Stafford J	5	6		66	47		11.00		
Isaachsen P	3	2		21	14		10.50		
Botsis S	6	6		61	21		10.17		
Hughes D	1	2		15	9		7.50		
Muir B	13	12	2	55	26		5.50		
Hansberry B	5	6	2	20	9*		5.00		
McQueen R	1	1		3	3		3.00		
Beattie T	1	1		1	1		1.00		
Bond D	1	1		-	-		0		

# **3rd GRADE BOWLING AVERAGES**

ord Grade Bowling Averages								
Player	Catches	Overs	Maidens	Wickets	Runs	5w/Inn	Best	Average
Edwards P	4	3	1	1	5		1/5	5.00
Stafford J	1	4	-	1	8		1/8	8.00
Malajczuk A	10	11	-	6	50		3/10	8.33
Tsokos A	6	42	13	9	102		2/2	11.33
Malcolm A	2	78	30	11	158		4/38	14.36
Casson A	3	161	47	24	345	2	5/49	14.38
Darragh D	6	75	27	10	145		2/10	14.50
Campbell R	-	18	2	3	45		3/45	15.00
Muir B	4	293	82	41	622	1	5/27	15.17
Stoykovski J	1	42	4	9	143		4/36	15.89
Swan J	12	76	15	11	179		3/21	16.27
Di Rosso G	2	244	79	35	577		4/32	16.49
Hansberry B	1	58	14	10	169	1	6/48	16.90
Botsis S	2	78	16	9	180		2/20	20.00



# 3rd GRADE BOWLING AVERAGES - continued

Player	Catches	Overs	Maidens	Wickets	Runs	5w/Inn Best	Average
Rule V	9	33	5	3	84	2/14	28.00
Isaachsen P	1	45	4	3	137	1/16	45.67
Bond D	-	18	3	1	59	1/59	59.00
Pearce S	3	2	1	-	10		~
Sandhu D	43 + 5S	9	2		20		~
McShane J	3						
Beattie T	2						

4th GRADE BATTING AVERAGES												
Player	Matches	Innings	Not outs	Runs	Top Score	50's	100's	Average				
Malajczuk A	1	1	-	80	80	1		80.00				
Colin-Thome D	2	3	2	70	36*			70.00				
Symmington J	3	3	2	50	32*			50.00				
McQueen R	5	6	-	251	80	2		41.83				
Hughes D	7	8	_	310	126		1	38.75				
Townsend S	7	8	1	232	72	1		33.14				
Bolton A	11	12	-	356	94	2		29.67				
McShane J	8	10	-	280	88	2		28.00				
Hansberry B	12	14	2	315	80	2		26.25				
Serjeant T	7	8	-	164	42			20.50				
Barnes B	6	8	-	145	49			18.13				
Rutherford D	11	11	3	141	26			17.63				
Hansberry C	3	3	1	34	14			17.00				
Stafford J	7	8	-	136	33			17.00				
LeTessier B	9	11	1	169	35			16.90				
Malcolm A	1	1	-	12	12			12.00				
Pervan L	11	14	2	121	48			10.08				
Tsokos A	-	1	-	10	10			10.00				
Isaachsen P	1	1	-	9	9			9.00				
Edwards P	1	1	-	9	-			9.00				
Traynor S	3	4	1	24	13			8.00				
Birmingham J	1	1	-	6	6			6.00				
Winter C	10	12	3	38	20*			4.22				
Parr R	4	4	1	9	6			3.00				
Stoykovski J	1	2	1	3	3			3.00				
Dyer G	1	1	1	8	8*			~				

<sup>&</sup>quot;When you win the toss - bat.

W G GRACE

If you are in doubt, think about it - then bat.

If you have very big doubts, consult a colleague - then bat."



#### 4th GRADE BOWLING AVERAGES

		_			_			
Player	Catches	Overs	Maidens	Wickets	Runs	5w/Inn	Best	Average
Stoykovski J	-	17	5	5	43	1	5/43	8.60
Hansberry C	2	49	19	7	94	-	3/29	13.43
Hughes D	1	130	24	22	348	3	6/30	15.82
Rutherford D	4	35	6	7	126	1	5/30	18.00
Winter M	2	214	46	29	546	1	7/39	18.83
Bolton A	4	70	25	7	158	-	2/7	22.57
Pervan L	3	198	29	28	644	-	4/60	23.00
Parr R	1	65	10	7	201	-	3/22	28.71
Traynor S	-	10	-	1	42	-	1/38	42.00
Serjeant T	3	84	14	5	213	-	2/44	42.60
McQueen R	1	33	-	3	129	-	2/45	43.00
Colin-Thome D	5	41	7	3	141	-	2/41	47.00
LeTessier B	2	73	14	4	214	-	2/34	53.50
Stafford J	1	18	1	1	81	-	1/11	81.00
Malajczuk A	-	6	-	-	20	-		~
McShane J	5	8	2	-	32	-		~
Townsend S	3	3	-	-	6	-		~
Hansberry B	30							
Barnes B	4							
Tsokos A	1							

The Devils challenged the Angels to a game of cricket. "But we've got all the cricketers," said the Angels.

The Devils said: "Yes. But we've got all the UMPIRES!"

The village club was burdened with a big-headed skipper. Although a below average player, he considered himself the best in the side. They were up against tough opposition and as they walked out he said, "Right. I'll open the bowling from the pavilion end."

"That's right, skipper," said the fast bowler. "You bowl 'em in - then I'll come on bowl 'em out."

A slip fieldsman had a particularly depressing day during which he dropped no less than ten catches all off the same bowler. After the game he was talking to the bowler when he broke off and looked at his watch. "I must go," he said, "I have a train to catch."

The bowler looked at him bitterly. "Let's hope you have better luck with that, then."

During the match, the fieldsman positioned just behind the umpire kept trying to distract the batsman as the ball was bowled to him. Several appeals for I.b.w were turned down, and finally the umpire turned to the fieldsman and said sternly: "I've been watching you for the last twenty minutes."

"I thought so," came the reply, "I could tell you weren'twatching the game!"



# **SUMMARY OF ALL GRADES BATTING AVERAGES**

#### 150 runs or more

			o runs or					_
Player	Matches	Innings	Not outs	Runs	Top Score			-
Goodwin M	11	13	1	607	123	4	2	50.58
Rule V	16	20	4	743	116	4	2	46.44
Pearce S	16	20	3	673	88	4	-	39.59
Payne C	12	12	-	453	105	3	1	37.75
Kapinkoff K	16	22	5	620	84	5	-	36.47
McQueen R	6	7	-	254	80	2	-	36.29
Christadoulou G	13	17	2	497	86	3	-	33.13
Hughes D	8	10	-	325	126	-	1	32.50
Jones C	13	15	2	407	127	1	1	31.31
O'Regan D	16	17	1	498	107	2	1	31.13
Di Rosso G	17	17	10	214	58*	2	-	30.57
McKeown P	3	8	1	209	61*	1	-	29.86
Townsend S	8	10	1	260	72	1	-	28.89
Lind W	13	13	7	172	46*	-	-	28.67
Campbell R	9	12	2	281	52	2	-	28.10
George S	8	9	-	252	72	2	-	28.00
Glew S	15	21	3	504	110	1	1	28.00
Bolton A	14	17	1	425	94	2	-	26.56
Barnes D	16	21	4	414	71	3	-	24.35
McShane J	12	15	-	364	88	2	-	24.27
Bolton D	15	24	-	568	136	1	1	23.67
Cann C	16	22	5	398	82*	1	-	23.41
Malajczuk A	15	19	1	400	80	2	-	22.22
Casson A	17	18	2	343	49*	-	-	21.44
Hansberry B	17	20	4	335	80	2	-	20.94
Serjeant T	7	8	-	164	42	-	-	20.50
Swan J	16	17	1	327	51*	1	-	20.44
Simpson M	15	17	-	332	80	1	-	19.53
Tsokos A	15	17	2	291	48	-	-	19.40
Kinsella D	13	18	1	315	58	1	-	18.53
Darragh D	16	17	2	273	48	-	_	18.20
LeTessier B	9	11	1	169	35	_	-	16.90
Sandhu D	16	19	-	313	65	1	_	16.47
Edwards P	10	13	2	167	86	1	-	15.18
Stafford J	12	14	-	202	47	_	-	14.43
Moody S	15	17	2	207	44	_	-	13.80
Silinger T	13	14	1	163	44	_	-	12.54
			•		• •			



## **SUMMARY OF ALL GRADES BOWLING AVERAGES**

#### 150 overs or more

Player	Overs	Maidens	Wickets	Runs	5w/lnn	Best	Average
Howman S	282	87	42	657	2	6/35	15.64
Muir B	309	89	42	664	1	5/27	15.81
Clark M	251	75	35	558	1	5/41	15.94
Casson A	257	72	37	592	3	5/30	16.00
Swan G	320	101	45	824	4	6/121	18.31
Winter M	214	46	29	546	1	7/39	18.83
Di Rosso G	281	84	38	716	-	4/32	18.84
Moody S	231	51	39	812	2	7/134	20.82
Hyland I	219	67	22	483	2	5/18	21.95
Lind W	212	45	29	639	-	4/55	22.03
Pervan L	198	29	28	644	-	4/60	23.00
Silinger T	202	43	17	557	1	5/36	32.76

### **Total Catches**

#### 10 catches or more

Player	Catches	Stumpings
Glew S	14	
Hansberry B	31	
Jones C	29	
Malajczuk A	10	
Rule V	14	
Sandhu D	43	5
Simpson M	36	1
Swan G	11	
Swan J	14	

A Captain's role - "A PR officer, agricultural consultant, psychiatrist, accountant, nursemaid and diplomat."

DOUG INSOLE



Cann C Barnes D Campbell R Kapinkoff K

# **SUBIACO - FLOREAT CRICKET CLUB (Inc)**

### **BANKWEST CUP AVERAGES**

<b>BATTING</b>	Matches	Innings	Not outs	Runs	Top Score	Average
Glew S	5	5	1	246	110*	61.50
Goodwin M	4	4		170	54	42.50
Kinsella D	1	1		29	29	29.00
Bolton D	5	5		112	57	22.40
Kapinkoff K	5	5	1	81	77*	20.25
Cann C	5	5	1	78	34*	19.50
Howman S	5	3	1	37	19	18.50
Moody S	5	4	1	48	40	16.00
Simpson M	5	4		51	28	12.75
Clark M	5	3		18	12	6.00
Campbell R	1	1		6	6	6.00
Swan G	5	3	1	11	8	5.50
McKeown P	2	2		7	4	3.50
Barnes D	1	1		-	-	0.00

<b>BOWLING</b>	Catches	Overs	Maidens	Wickets	Runs	Average
Howman S	3	47	6	10	168	16.80
Moody S	-	47	1	10	177	17.70
Swan G	2	45	8	8	163	20.38
Henryon P	-	20	2	3	80	26.67
Hyland I	-	9	-	2	71	35.50
Bolton D	3	9	-	1	48	48.00
Clark M	-	47	6	4	204	51.00
Lind W	-	11	2	1	57	57.00
Glew S	3	3	-	-	27	~
Simpson M	6 + 1S					
Goodwin M	5					

DAVID RAYVERN ALLEN from "Cricket: An Illustrated History""

<sup>&</sup>quot;One fascination of cricket is that it never ceases to fascinate. To become a devotee in childhood means being hooked for life. Happily it is an addiction for which there is no need of legislation nor government health warnings."



## **COLTS AVERAGES**

<b>BATTING</b>	Matches	Innings	Not outs	Runs	Top Score	Average
Bolton A	2	2		103	69	51.50
Sandhu D	2	2	1	41	31	41.00
Barnes D	2	2		27	27	13.50
McShane J	1	1		· 13	13	13.00
Jones C	2	2		16	12	8.00
Hansberry B	1	1		6	6	6.00
Malajczuk A	2	2		5	5	2.50
Pearce S	2	2		3	3	1.50
Kinsella D	2	2		2	1	1.00
Bolton D	2	2		2	1	1.00
Lind W	2	1		-	-	0.00
Isaachsen P	1	1		-	-	0.00
Edwards P	1	1		-	-	0.00
Hyland I	1	1	1	2	2*	~

BOWLING	Catches	Overs	Maidens	Wickets	Runs	Average
Bolton D	1	20	3	5	49	9.80
Pearce S	1	9	1	2	30	15.00
Pervan L	-	10	2	2	32	16.00
Sandhu D	1	10	1	2	37	18.50
Lind W	3	20	3	3	86	28.67
Hyland I	-	10	-	-	22	~
Barnes D	2	1	-	-	8	~
Jones C	1					
Malajczuk A	1					

"Long ago I discovered there was more to life than cricket: and more to cricket than runs and wickets." DAVID FOOT from "Cricket's Unholy Trinity"



### FIRST GRADE BATTING AVERAGES 1977/78 TO 2001/02

riko i	GRADE	DAI	IIIIG	AVE	RAGI			0 10 2		
Player	Matches	Innings	Not	Runs	Тор	50's	100's	Average	Catches	Stump
·			Outs		Score					-ings
Akhtar S	15	13	2	48	14	-	-	4.36	2	-
Alderman T	67	41	8	464	60	1	-	14.06	37	-
Allen J	34	32	4	532	79*	3	-	19.00	3	-
Anthony P	13	18	-	183	28	-	-	10.17	5	-
Auty C	23	29	7	491	52	1	-	22.32	13	-
Balcombe B	19	22	9	253	82*	1	-	19.46	5	-
Barlow G	12	15	2	422	66	4	-	32.46	3	_
Barnes A	5	6	_	49	34	-	-	8.17	1	-
Barnes D	18	24	4	331	68	2	-	16.55	2	-
Barr G	7	6	2	66	28	-	-	16.50	2	-
Beattie T	19	27	2	456	76	2	-	18.24	9	-
Bolton A	4	4	_	59	49	-	-	14.75	1	-
Bolton D	54	74	1	1,627	136	8	1	22.29	29	-
Bolton N	4	4	_	33	25	_	_	8.25	-	-
Bond D	10	9	2	6	3	_	-	0.86	2	-
Boyle S	10	14	3	215	47	_	_	19.55	3	_
Breman T	66	71	10	1,632	102*	9	1	26.75	27	-
Brown R	10	12	1	173	58	1	_	15.73	4	_
Burgess G	9	11	i	82	24	-	_	8.20	2	_
Bush G	136	106	22	1,028	55	1	_	12.24	47	_
Cameron D	13	18	1	187	36*	-	_	11.00	9	_
Campbell R	101	122	16	2,144	79*	9	_	20.23	51	_
Campbell IX	48	61	10	1.264	82*	7	_	24.78	40	_
-	76	74	16	743	62	1	-	12.81	12	-
Capes P	9	7	1	206	101	-	1	34.33	3	-
Carlstein P	1	1	1	49	49*	-	,	34.33	-	-
Casson A	11	9	1	84	49 28*	_	_	10.50	2	-
Christensen H		1	1	2	2*	-	_	10.50	4	-
Christodoulou C	. ,	-		_		5		24.00	-	
Chrystal H	45	55	9	1,148	131		1	24.96	21	-
Clark M	26	17	5	168	35	-	-	14.00	6	-
Collins M	5	7	1	74	32	-	-	12.33	1	-
Cunningham E	14	14	1	308	88*	2	-	23.69	5	-
Darragh D	. 4	5	-	113	57	1	-	22.60	-	-
Davies J	3	4	2	45	25*	-	-	22.50	-	-
Dehring G	65	80	4	1,667	109	9	1	21.93	58	-
Elliot M	28	37	3	616	69	4	-	18.12	9	-
Elliot R	34	37	4	560	48	-	-	16.97	24	-
Finlay W	6	8	1	65	30	-	-	9.29	7	-
Fitzgerald G	163	180	19	3,488	150	13	2	21.66	274	41
Flynn A	2	3	-	11	7	-	-	3.67	-	-
George S	9	13	3	166	50	1	-	16.60	6	-
Glew S	61	82	11	2,170	154*	8	3	30.56	56	-
Godfrey G	30	32	9	374	39*	-	-	16.26	9	-
Gonnella P	70	77	17	2,237	123*	13	4	37.28	20	-
Goodwin M	88	103	13	4,353	188	23	11	48.37	32	-
Hampton P	4	3	1	1	1	-	-	0.50	3	-
-										



## FIRST GRADE BATTING AVERAGES 1977/78 TO 2001/02, continued

Player	Matches	Innings	Not	Runs	Тор	50's	100's	Average	Catches	Stump
, ,			Outs		Score					-ings
Hann G	44	51	8	876	109*	3	1	20.37	20	_
Harris D	11	14	1	142	46	-	-	10.92	5	-
Harris K	27	31	4	421	75	2	-	15.59	9	-
Hart B	28	31	6	495	56	1	-	19.80	25	-
Henderson S	3	3	-	26	18	-	-	8.67	-	-
Henryon P	31	23	11	38	8	-	-	3.17	4	-
Herzberg S	12	13	4	322	93	2	-	35.78	6	-
Hicks W	3	4	-	25	13	-	-	6.25	1	-
Higgins P	1	1	-	-	-	-	-	-	-	-
Hogan T	46	37	4	817	75	5	-	24.76	27	-
Howman S	54	60	20	632	66*	1	-	15.80	25	-
Hubble J	66	75	20	1,616	85*	9	-	29.38	51	-
Hudson R	14	12	5	80	21*	-	-	11.43	1	-
Hughes G	84	101	7	2,423	133	13	3	25.78	48	-
Hughes K	44	53	9	2,498	205	9	8	56.77	21	-
Hurst J	21	24	6	213	42	-	-	11.83	18	-
Hyland i	3	1	1	4	4*	-	-	~	2	-
Ireland D	16	15	2	109	29*	-	-	8.38	3	-
Isles C	8	12	3	197	42	-	-	21.89	4	-
Islip B	5	3	1	35	20*	-	-	17.50	2	-
Jeffrey P	11	13	1	335	46	-	-	27.92	2	-
Jones B	18	24	2	618	114*	3	1	28.09	8	-
Jones C	1	1	1	-	0*			~	2	-
Jones P	106	106	40	934	52	1	-	14.15	216	16
Kapinkoff K	56	68	7	1,743	125	9	2	28.57	20	-
Kerr J	7	7	-	108	37	-	-	15.43	2	-
Kiely A	3	3	2	1	1	-	-	1.00	1	-
King I	56	52	4	720	70	3	-	15.00	7	-
Kinsella D	10	13	1	243	58	1	-	20.25	6	-
Kirk P	12	11	4	82	33	-	-	11.71	5	-
Knight N	4	4	-	44	30	-	-	11.00	3	-
Leahy S	11	16	2	182	56	1	-	13.00	8	-
Levy W	3	3	1	22	12	-	-	11.00	2	-
Lockie B	12	14	1	152	35	-	-	11.69	3	-
Lubich C	68	76	15	1,037	74*	5	-	17.00	34	-
MacGill T	12	12	2	196	47	-	-	19.60	5	-
MacNish D	4	5	-	33	19	-	-	6.60	3	-
Marshall P	10	11	-	219	79	1	-	19.91	1	-
McKeown P	21	29	1	808	132	4	1	28.86	9	-
Milne A	37	36	4	764	78	6	-	23.88	18	-
Moldrich P	17	19	1	516	99*	2	-	28.67	4	-
Moody S	37	40	5	679	65*	3	-	19.40	16	-
Moran R	16	21	-	502	139	1	2	23.90	4	-
Morris J	12	15	1	580	99	6	-	41.43	7	-
Mulhall S	55	68	3	1,718	135	13	1	26.43	31	-
Murphy J	7	6	3	45	16	-	-	15.00	-	-
Neale P	19	14	5	70	15	-	-	7.78	6	-

Season 2001/02 25th Annual Report page 31



## FIRST GRADE BATTING AVERAGES 1977/78 TO 2001/02, continued

I IIIO I GIVAD		110 7	, LIV	1020	.01111	0.0	2001	<b>02</b> , 00111	mucu	
Player	Matches	Innings	Not Outs	Runs	Top Score	50's	100's	Average	Catches	Stump -ings
Neilson S	47	40	9	326	38	-	-	10.52	19	-
Nice M	44	49	2	700	83	1	_	14.89	18	-
Nicholls P	31	37	4	1,401	151	7	3	42.45	13	_
Nixon M	1	1	-	19	19	-	-	19.00	_	_
O'Brien G	9	7	1	48	25	-	-	8.00	2	-
O'Regan D	3	4	1	33	19	-	-	11.00	_	_
Page S	61	70	10	1,144	117*	4	1	19.07	42	4
Palmer B	2	2	1	24	19	-	-	24.00	2	-
Panegyres P	8	8	1	104	37	-	-	14.86	2	-
Parker B	17	20	3	190	40	-	-	11.18	5	-
Payne C	13	16	3 -	217	45*	-	-	16.69	4	-
Penter K	41	46	7	802	72	4	-	20.56	5	-
Perrott C	26	30	2	559	68	3	_	19.96	12	-
Piromalli J	16	18	2	419	85	2	-	26.19	7	-
Porter G	27	34	3	718	97	4	-	23.16	15	-
Pringle N	1	1	_	2	2	-	-	2.00	-	-
Ralph W	5	4	2	22	16*	-	-	11.00	1	-
Raven B	109	81	44	282	20*	-	-	7.62	25	-
Raven D	16	13	8	62	12	-	-	12.40	4	•
Reed D	27	28	7	465	74	-	-	22.14	-	-
Rule N	22	28	2	512	55	1	-	19.69	6	-
Rule V	90	108	18	1,818	78*	7	-	20.20	43	-
Sanders P	4	5	1	112	43	-	-	28.00	1	-
Saunders D	25	26	4	578	92*	3	-	26.27	11	-
Saunders M	10	6	1	117	69*	1	-	23.40	4	-
Sharkey T	2	1	-	4	4	-	-	4.00	-	-
Sharp K	21	23	3	1,083	169	7	2	54.15	7	-
Silinger P	10	13	1	182	60	1	-	15.17	8	-
Silinger T	18	13	4	62	18	-	-	6.89	10	-
Simpson M	98	109	11	2,070	85	10	-	21.12	178	6
Smailes C	76	85	6	2,101	114	11	4	26.59	30	-
Smith B	2	2	1	4	3*	-	-	4.00	-	-
Stafford G	11	13	3	131	71*	1	-	13.10	3	-
Statham R	11	11	2	146	35	-	-	16.22	1	-
Swan G	128	122	28	944	45	-	-	10.04	36	-
Swan J	1	1	-	5	5	-	-	5.00	-	
Tate G	1	1	-	5	5	-	-	5.00	-	_
Tolev G	3	3	-	15	9	-	-	5.00	3	-
Travis G	21	22	2	416	97*	3	-	20.80	8	-
Ward B	2	2	-	-	-	-	-	-	2	-
Wilson J	5	3	2	12	8*	-	-	12.00	2	-
Worland A	1	2	1	14	14	-	-	14.00	-	-
Wright S	29	33	4	635	165	1	1	21.90	15	-
-								_	_	



## FIRST GRADE BOWLING AVERAGES 1977/78 to 2001/02

Player         Overs         Maidens         Runs         Wickets         Average         5w/lnn         Best         rate         fate           Akhtar S         218         58         614         37         16.59         3         528         35.40           Allern J         468         122         1,237         68         18.19         2         6/29         2.64         41.58           Aller J         468         1,129         43         26.26         1         7/85         2.71         58.06           Barr G         46         8         126         4         31.50         -         3/7         2.74         69.00           Botton D         66         24         134         5         26.80         -         2/28         2.03         79.20           Bond D         134         31         375         7         55.57         239         3.01         114.86           Boyle S         23         5         83         6         13.83         -         3/39         3.61         23.09           Brewn R         46         10         404         13         31.08         1         5/62         2.21									Run	Strike
Akthar S	Player	Overs	Maidens	Runs	Wickets	Average	5w/Inn	Best		rate
Allen J	Akhtar S	218	58	614	37	16.59		5/28	2.81	35.40
Auty C	Alderman T	1,388	381	3,404	231	14.74	14	7/26	2.45	36.05
Balcombe B   293   85   780   26   30.00   1   6/35   2.66   67.62	Allen J	468	122	1,237	68	18.19	2	6/29	2.64	41.32
Barr G	Auty C	416	98	1,129	43	26.26	1	7/85	2.71	58.06
Beattie   26	Balcombe B	293	85	780	26	30.00	1	6/35	2.66	67.62
Bolton D   66	Barr G	46	8	126	4	31.50	-	3/7	2.74	69.00
Bond D	Beattie	26	-	81	2	40.50	-	2/20	3.12	78.00
Boyle S	Bolton D	66	24	134	5	26.80	-	2/28	2.03	79.20
Breman T	Bond D	134	31	375	7	53.57	-	2/39	2.80	114.86
Breman T   489	Boyle S	23	5	83	6	13.83	-	3/39	3.61	23.00
Bush G	-	489	174	1,835	75	24.47	5	6/23	3.75	39.12
Campbell R Cann C Cann	Brown R	96	10	404	13	31.08	1	5/66	4.21	44.31
Cann C Capes P	Bush G	2,913	830	7,686	386	19.91	26	7/45	2.64	45.28
Capes P 1,361 332 3,421 153 22.36 9 7/50 2.51 53.38 Christensen H 116 34 325 20 16.25 - 4/18 2.80 34.80 Chrystal H 91 12 268 10 26.80 - 3/74 2.96 54.30 Clark M 460 132 1,090 70 15.57 4 5/41 2.37 39.45 Collins 48 5 199 7 28.43 - 4/42 4.15 41.14 Cunningham E 8 2 16 2 2.00 - Dehring G 24 3 136 2 68.00 1/20 5.67 72.00 Elliot M 31 1 173 2 86.50 - 1/32 5.58 93.00 Finlay W 16 - 79 1 79.00 - 1/25 4.94 96.00 Fitzgerald G 5 1 18 3 3.60 - 3.60 - 1/20 5.67 72.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Goodwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hamris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris C 27 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Harris C 27 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Harris C 286 92 694 36 19.28 1 5/44 3.58 42.72 Herzberg S 286 92 694 36 19.28 1 5/43 3.46 31.20 Horgan T 853 269 2.081 107 19.45 5 7/62 2.44 47.75 Higgins P 9 2 31 3.44 - 10.34 1.30 1 1.30	Campbell R	819	151	2,579	97	26.59	-	3/11	3.15	50.66
Christensen H 116 34 325 20 16.25 - 4/18 2.80 34.80 Chrystal H 91 12 268 10 26.80 - 3/74 2.96 54.30 Clark M 460 132 1,090 70 15.57 4 5/41 2.37 39.45 Collins 48 5 199 7 28.43 - 4/42 4.15 41.14 Cunningham E 8 2 16 200 - Dehring G 24 3 136 2 68.00 1/20 5.67 72.00 Elliot M 31 1 173 2 86.50 - 1/32 5.58 93.00 Finlay W 16 - 79 1 79.00 - 1/25 4.94 96.00 Fitzgerald G 5 1 18 3.60 - 3/60 Fiynn A 24 2 95 1 95.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Godwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hamris K 2 - 13 1 13.00 - 1/120 3.24 99.69 Harris D 14 1 63 1 63.00 - 1/120 3.26 99.69 Harris D 14 1 63 1 63.00 - 1/120 4.50 84.00 Harris K 2 - 13 1.70 75 1,707 67 25.48 1 5/43 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Henryon P 477 75 1,707 67 25.48 1 5/43 3.45 52.38 Howman S 957 279 2,375 127 18.70 4 7/58 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.44 47.75 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 6622 25 24.88 - 4/27 2.33 64.13	Cann C	7	2	15	3	5.00	-	2/3	2.14	14.00
Christensen H 116 34 325 20 16.25 - 4/18 2.80 34.80 Chrystal H 91 12 268 10 26.80 - 3/74 2.96 54.30 Clark M 460 132 1,090 70 15.57 4 5/41 2.37 39.45 Collins 48 5 199 7 28.43 - 4/42 4.15 41.14 Cunningham E 8 2 16 2 2.00 - Dehring G 24 3 136 2 68.00 11/20 5.67 72.00 Elliot M 31 1 173 2 86.50 - 1/32 5.58 93.00 Finlay W 16 - 79 1 79.00 - 1/25 4.94 96.00 Fitzgerald G 5 1 18 3.60 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Godwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Godwin M 59 5 13 3 1 13.00 - 1/32 3.02 42.00 Ham G 216 50 571 13 43.92 - 2/0 2.64 99.69 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris K 2 - 13 1 13.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 8.67 9.00 Harris K 2 - 13 1 18.00 - 1/13 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/13 3.66 31.20 Henryon P 477 75 1,707 67 25.48 1 5/43 2.42 47.75 Higgins P 9 2 31 3.44 Hogan T 853 269 2,081 107 19.45 5 7/62 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.48 45.21 Hubble J 289 53 820 36 22.78 - 4/17 2.84 48.17 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Capes P	1,361	332	3,421	153	22.36	9	7/50	2.51	53.38
Clark M	Christensen H	116	34		20	16.25	-	4/18	2.80	34.80
Colliins	Chrystal H	91	12	268	10	26.80	-	3/74	2.96	54.30
Cunningham E         8         2         16         -         -         -         -         2.00         -           Dehring G         24         3         136         2         68.00         1/20         5.67         72.00           Elliot M         31         1         173         2         86.50         -         1/32         5.58         93.00           Finlay W         16         -         79         1         79.00         -         1/25         4.94         96.00           Fitzgerald G         5         1         18         -         -         -         3.60         -           Flynn A         24         2         95         1         95.00         -         1/43         3.96         144.00           George S         12         -         26         1         26.00         -         1/26         2.17         72.00           Glew S         37         11         104         7         14.86         -         2/1         2.81         31.71           Godfrey G         326         35         974         19         51.26         -         3/59         2.99         103.01	Clark M	460	132	1,090	70	15.57	4	5/41	2.37	39.45
Dehring G         24         3         136         2         68.00         1/20         5.67         72.00           Elliot M         31         1         173         2         86.50         -         1/32         5.58         93.00           Finlay W         16         -         79         1         79.00         -         1/25         4.94         96.00           Fitzgerald G         5         1         18         -         -         -         -         3.60         -           Flynn A         24         2         95         1         95.00         -         1/43         3.96         144.00           George S         12         -         26         1         26.00         -         1/26         2.17         72.00           Glew S         37         11         104         7         14.86         -         2/1         2.81         31.71           Godfrey G         326         35         974         19         51.26         -         3/59         2.99         103.01           Gondling P         7         1         16         1         16.00         -         1/6         2.29	Collins	48	5	199	7	28.43	-	4/42	4.15	41.14
Elliot M 31 1 173 2 86.50 - 1/32 5.58 93.00 Finlay W 16 - 79 1 79.00 - 1/25 4.94 96.00 Fitzgerald G 5 1 18 3.60 - 3.60 Flynn A 24 2 95 1 95.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Goodwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hann G 216 50 571 13 43.92 - 2/0 2.64 99.69 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris K 2 - 13 1 13.00 - 1/13 8.67 9.00 Hart B 227 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Henryon P 477 75 1,707 67 25.48 1 5/44 3.58 42.72 Herzberg S 286 92 694 36 19.28 1 5/43 2.42 47.75 Higgins P 9 2 31 3.44 Hogan T 853 269 2,081 107 19.45 5 7/62 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.48 45.21 Hubble J 289 53 820 36 22.78 - 4/17 2.84 48.17 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Cunningham E	8	2	16	-	-	-	-	2.00	-
Finlay W 16 - 79 1 79.00 - 1/25 4.94 96.00 Fitzgerald G 5 1 18 3.60 - Flynn A 24 2 95 1 95.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Goodwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hann G 216 50 571 13 43.92 - 2/0 2.64 99.69 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris K 2 - 13 1 13.00 - 1/13 8.67 9.00 Hart B 227 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Henryon P 477 75 1,707 67 25.48 1 5/44 3.58 42.72 Herzberg S 286 92 694 36 19.28 1 5/43 2.42 47.75 Higgins P 9 2 31 3.44 - 1 Hogan T 853 269 2,081 107 19.45 5 7/62 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.48 45.21 Hubble J 289 53 820 36 22.78 - 4/17 2.84 48.17 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Dehring G	24	3	136	2	68.00		1/20	5.67	72.00
Fitzgerald G 5 1 18 3.60 - Flynn A 24 2 95 1 95.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Goodwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hann G 216 50 571 13 43.92 - 2/0 2.64 99.69 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris K 2 - 13 1 13.00 - 1/13 8.67 9.00 Hart B 227 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Henryon P 477 75 1,707 67 25.48 1 5/43 2.42 47.75 Higgins P 9 2 31 3.44 - Hogan T 853 269 2,081 107 19.45 5 7/62 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.48 45.21 Hubble J 289 53 820 36 22.78 - 4/17 2.84 48.17 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Elliot M	31	1	173	2	86.50	-	1/32	5.58	93.00
Flynn A 24 2 95 1 95.00 - 1/43 3.96 144.00 George S 12 - 26 1 26.00 - 1/26 2.17 72.00 Glew S 37 11 104 7 14.86 - 2/1 2.81 31.71 Godfrey G 326 35 974 19 51.26 - 3/59 2.99 103.01 Gonnella P 7 1 16 1 16.00 - 1/6 2.29 42.00 Goodwin M 59 5 284 6 47.33 - 2/24 4.81 59.00 Hampton P 63 10 190 9 21.11 - 3/28 3.02 42.00 Hann G 216 50 571 13 43.92 - 2/0 2.64 99.69 Harris D 14 1 63 1 63.00 - 1/20 4.50 84.00 Harris K 2 - 13 1 13.00 - 1/13 8.67 9.00 Hart B 227 40 784 26 30.15 - 3/24 3.45 52.38 Henderson S 5 - 18 1 18.00 - 1/18 3.46 31.20 Henryon P 477 75 1,707 67 25.48 1 5/44 3.58 42.72 Herzberg S 286 92 694 36 19.28 1 5/43 2.42 47.75 Higgins P 9 2 31 3.44 - 1.45 Hogan T 853 269 2,081 107 19.45 5 7/62 2.44 47.85 Howman S 957 279 2,375 127 18.70 4 7/58 2.48 45.21 Hubble J 289 53 820 36 22.78 - 4/17 2.84 48.17 Hudson R 97 24 330 11 30.00 - 4/52 3.39 53.13 Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Finlay W	16	-	79	1	79.00	-	1/25	4.94	96.00
George S         12         -         26         1         26.00         -         1/26         2.17         72.00           Glew S         37         11         104         7         14.86         -         2/1         2.81         31.71           Godfrey G         326         35         974         19         51.26         -         3/59         2.99         103.01           Gonnella P         7         1         16         1         16.00         -         1/6         2.29         42.00           Goodwin M         59         5         284         6         47.33         -         2/24         4.81         59.00           Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13	Fitzgerald G	5	1	18	-	-	-	-	3.60	-
Glew S         37         11         104         7         14.86         -         2/1         2.81         31.71           Godfrey G         326         35         974         19         51.26         -         3/59         2.99         103.01           Gonnella P         7         1         16         1         16.00         -         1/6         2.29         42.00           Goodwin M         59         5         284         6         47.33         -         2/24         4.81         59.00           Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24	Flynn A	24	2	95	1	95.00	-	1/43	3.96	144.00
Godfrey G         326         35         974         19         51.26         -         3/59         2.99         103.01           Gonnella P         7         1         16         1         16.00         -         1/6         2.29         42.00           Goodwin M         59         5         284         6         47.33         -         2/24         4.81         59.00           Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18 <td>George S</td> <td>12</td> <td>-</td> <td>26</td> <td>1</td> <td>26.00</td> <td>-</td> <td>1/26</td> <td>2.17</td> <td>72.00</td>	George S	12	-	26	1	26.00	-	1/26	2.17	72.00
Gonnella P         7         1         16         1         16.00         -         1/6         2.29         42.00           Goodwin M         59         5         284         6         47.33         -         2/24         4.81         59.00           Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/43 </td <td>Glew S</td> <td>37</td> <td>11</td> <td>104</td> <td>7</td> <td>14.86</td> <td>-</td> <td>2/1</td> <td>2.81</td> <td>31.71</td>	Glew S	37	11	104	7	14.86	-	2/1	2.81	31.71
Goodwin M         59         5         284         6         47.33         -         2/24         4.81         59.00           Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -	Godfrey G	326	35	974	19	51.26	-	3/59	2.99	103.01
Hampton P         63         10         190         9         21.11         -         3/28         3.02         42.00           Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -	Gonnella P	7	1	16	1	16.00	-	1/6	2.29	42.00
Hann G         216         50         571         13         43.92         -         2/0         2.64         99.69           Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Howard T         853         269         2,081         107         19.45         5         7/62 <td>Goodwin M</td> <td>59</td> <td>5</td> <td>284</td> <td>6</td> <td>47.33</td> <td>-</td> <td>2/24</td> <td>4.81</td> <td>59.00</td>	Goodwin M	59	5	284	6	47.33	-	2/24	4.81	59.00
Harris D         14         1         63         1         63.00         -         1/20         4.50         84.00           Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Hogan T         853         269         2,081         107         19.45         5         7/62         2.44         47.85           Howman S         957         279         2,375         127         18.70         4         7/	Hampton P	63	10	190	9	21.11	-			
Harris K         2         -         13         1         13.00         -         1/13         8.67         9.00           Hart B         227         40         784         26         30.15         -         3/24         3.45         52.38           Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Hogan T         853         269         2,081         107         19.45         5         7/62         2.44         47.85           Howman S         957         279         2,375         127         18.70         4         7/58         2.48         45.21           Hubble J         289         53         820         36         22.78         - <t< td=""><td>Hann G</td><td>216</td><td>50</td><td>571</td><td>13</td><td>43.92</td><td>-</td><td></td><td></td><td></td></t<>	Hann G	216	50	571	13	43.92	-			
Hart B       227       40       784       26       30.15       -       3/24       3.45       52.38         Henderson S       5       -       18       1       18.00       -       1/18       3.46       31.20         Henryon P       477       75       1,707       67       25.48       1       5/44       3.58       42.72         Herzberg S       286       92       694       36       19.28       1       5/43       2.42       47.75         Higgins P       9       2       31       -       -       -       -       3.44       -         Hogan T       853       269       2,081       107       19.45       5       7/62       2.44       47.85         Howman S       957       279       2,375       127       18.70       4       7/58       2.48       45.21         Hubble J       289       53       820       36       22.78       -       4/17       2.84       48.17         Hudson R       97       24       330       11       30.00       -       4/52       3.39       53.13         Hughes G       267       84       622 <td< td=""><td>Harris D</td><td></td><td>1</td><td>63</td><td>1</td><td>63.00</td><td>-</td><td></td><td></td><td></td></td<>	Harris D		1	63	1	63.00	-			
Henderson S         5         -         18         1         18.00         -         1/18         3.46         31.20           Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Hogan T         853         269         2,081         107         19.45         5         7/62         2.44         47.85           Howman S         957         279         2,375         127         18.70         4         7/58         2.48         45.21           Hubble J         289         53         820         36         22.78         -         4/17         2.84         48.17           Hudson R         97         24         330         11         30.00         -         4/52         3.39         53.13           Hughes G         267         84         622         25         24.88         -	Harris K	2	-	13	1	13.00	-		8.67	
Henryon P         477         75         1,707         67         25.48         1         5/44         3.58         42.72           Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Hogan T         853         269         2,081         107         19.45         5         7/62         2.44         47.85           Howman S         957         279         2,375         127         18.70         4         7/58         2.48         45.21           Hubble J         289         53         820         36         22.78         -         4/17         2.84         48.17           Hudson R         97         24         330         11         30.00         -         4/52         3.39         53.13           Hughes G         267         84         622         25         24.88         -         4/27         2.33         64.13	Hart B	227	40	784	26	30.15	-			-
Herzberg S         286         92         694         36         19.28         1         5/43         2.42         47.75           Higgins P         9         2         31         -         -         -         -         3.44         -           Hogan T         853         269         2,081         107         19.45         5         7/62         2.44         47.85           Howman S         957         279         2,375         127         18.70         4         7/58         2.48         45.21           Hubble J         289         53         820         36         22.78         -         4/17         2.84         48.17           Hudson R         97         24         330         11         30.00         -         4/52         3.39         53.13           Hughes G         267         84         622         25         24.88         -         4/27         2.33         64.13	Henderson S	5	-	18	1	18.00	-	1/18	3.46	31.20
Higgins P       9       2       31       -       -       -       -       3.44       -         Hogan T       853       269       2,081       107       19.45       5       7/62       2.44       47.85         Howman S       957       279       2,375       127       18.70       4       7/58       2.48       45.21         Hubble J       289       53       820       36       22.78       -       4/17       2.84       48.17         Hudson R       97       24       330       11       30.00       -       4/52       3.39       53.13         Hughes G       267       84       622       25       24.88       -       4/27       2.33       64.13	Henryon P	477	75	1,707	67	25.48	1	5/44	3.58	42.72
Hogan T       853       269       2,081       107       19.45       5       7/62       2.44       47.85         Howman S       957       279       2,375       127       18.70       4       7/58       2.48       45.21         Hubble J       289       53       820       36       22.78       -       4/17       2.84       48.17         Hudson R       97       24       330       11       30.00       -       4/52       3.39       53.13         Hughes G       267       84       622       25       24.88       -       4/27       2.33       64.13	Herzberg S	286	92	694	36	19.28	1	5/43	2.42	47.75
Howman S     957     279     2,375     127     18.70     4     7/58     2.48     45.21       Hubble J     289     53     820     36     22.78     -     4/17     2.84     48.17       Hudson R     97     24     330     11     30.00     -     4/52     3.39     53.13       Hughes G     267     84     622     25     24.88     -     4/27     2.33     64.13	Higgins P	9	2	31	-	-	-	-	3.44	-
Hubble J     289     53     820     36     22.78     -     4/17     2.84     48.17       Hudson R     97     24     330     11     30.00     -     4/52     3.39     53.13       Hughes G     267     84     622     25     24.88     -     4/27     2.33     64.13	Hogan T	853	269	2,081	107	19.45	5	7/62	2.44	47.85
Hubble J     289     53     820     36     22.78     -     4/17     2.84     48.17       Hudson R     97     24     330     11     30.00     -     4/52     3.39     53.13       Hughes G     267     84     622     25     24.88     -     4/27     2.33     64.13	-	957	279	2,375	127	18.70	4	7/58	2.48	45.21
Hughes G 267 84 622 25 24.88 - 4/27 2.33 64.13	Hubble J	289	53			22.78	-	4/17	2.84	48.17
	Hudson R	97	24	330	11	30.00	-	4/52	3.39	53.13
Hughes K 6 1 24 4.00 -	Hughes G	267	84	622	25	24.88	-	4/27	2.33	64.13
	Hughes K	6	1	24	-	-	-	-	4.00	-



# FIRST GRADE BOWLING AVERAGES 1977/78 to 2001/02, continued

							•	Run	Strike
Player	Overs	Maidens	Runs	Wickets	Average	5w/lnn	Best	rate	rate
Hurst J	57	15	161	1	161.00	-	1/30	2.82	342.00
Hyland I	38	16	69	2	34.50	-	2/39	1.82	114.00
Ireland D	346	88	886	36	24.61	-	4/27	2.56	57.70
Isles C	48	14	156	2	78.00	-	1/22	3.25	144.00
Islip B	49	8	184	3	61.33	-	2/65	3.76	98.00
Jeffrey P	206	44	599	30	19.97	-	4/31	2.91	41.20
Jones B	54	10	191	1	191.00	-	1/36	3.54	324.00
Jones P	7	2	35	2	17.50	-	1/3	4.79	21.90
Kapinkoff K	8	1	29	2	14.50	-	2/4	3.63	24.00
Kerr J	56	12	169	8	21.13	-	3/28	3.02	42.00
Kiely A	35	11	107	4	26.75	-	4/36	3.06	52.50
King I	1,025	260	2,746	145	18.94	5	7/15	2.68	42.41
Kirk P	130	24	486	6	81.00	-	2/22	3.74	130.00
Knight N	4	-	12	1	12.00	-	1/12	3.00	24.00
Lubich C	1,159	306	3,047	122	24.98	3	7/145	2.63	57.00
MacGill T	292	87	638	29	22.00	1	5/16	2.18	60.50
MacNish D	10	3	36	1	36.00	-	1/21	3.60	60.00
McKeown P	10	2	40	2	20.00	-	2/22	4.00	30.00
Milne A	2	_	4	1	4.00	-	1/0	2.00	12.00
Moldrich P	94	19	339	8	42.38	1	5/59	3.59	70.80
Moody S	540	122	1,806	85	21.25	3	7/134	3.34	38.12
Moran R	26	3	63	1	63.00	-	1/4	2.42	156.00
Mulhali S	2	-	12	-	_	-	-	6.00	-
Murphy J	109	34	297	3	99.00	-	1/5	2.74	217.00
Neale P	297	64	975	32	30.47	1	5/48	3.28	55.69
Neilson S	618	136	1,917	68	28.19	3	5/25	3.10	54.55
Nice M	187	26	542	13	41.69	-	2/56	2.90	86.31
Nicholls P	331	53	845	34	24.85	-	4/29	2.55	58.48
O'Brien G	84	18	318	8	39.75	-	5/83	3.79	63.00
Page S	9	-	101	3	33.67	-	2/41	11.22	18.00
Palmer B	10	1	35	2	17.50	-	1/16	3.50	30.00
Panegyres P	59	18	136	6	22.67	-	3/14	2.31	59.00
Parker B	254	57	594	18	33.00	1	5/48	2.34	84.70
Penter K	427	127	909	50	18.18	2	5/46	2.13	51.28
Perrott C	147	25	504	20	25.20	-	3/40	3.43	44.13
Piromalli J	9	1	49	1	49.00	-	1/11	5.38	54.60
Porter G	380	114	920	44	20.91	1	7/20	2.42	51.82
Ralph W	73	25	167	5	33.40	-	2/19	2.29	87.60
Raven B	2,123	505	5,039	269	18.73	11	7/29	2.37	47.35
Raven D	259	49	731	28	26.11	1	5/55	2.82	55.50
Rule V	71	17	269	12	22.42	-	3/1	3.79	35.50
Saunders M	159	27	507	13	39.00	_	4/34	3.19	73.38
Sharkey T	29	4	89	2	44.50	_	2/33	3.07	87.00
Silinger T	236	50	814	21	38.76	1	5/79	3.45	67.38
Simpson M	11	2	53	1	53.00	_	1/44	4.82	66.00
Smailes C	18	3	82	3	27.33	-	2/18	4.56	36.00
Smith B	10	1	36	_	-	_	-	3.60	
C.IIIII D	, 0	•	50					0.00	



#### FIRST GRADE BOWLING AVERAGES 1977/78 to 2001/02, continued

Plaver	Over	Maidana	Duna	Minkete	Average	5w/Inn	Post	Run rate	Strike rate
riayei	Overs	Maidens	Runs	VVICKELS	Average	OW/IIIII	Best	rate	late
Swan G	2,555	596	7,086	346	20.48	15	9/23	2.77	44.31
Swan J	6	1	24	1	24.00	-	1/24	4.00	36.00
Tate G	18	3	65	1	65.00	-	1/20	3.61	108.00
Wilson J	67	12	238	5	47.60	-	3/50	3.55	80.40
Wright S	32	12	64	2	32.00	-	2/39	2.00	96.00

"Then there is another thing I am afraid of. That is, that cricket will be made too much of a business, like football — with the consequence that none but professionals will be seen playing. That, I hope, will not come in our times; but there is that probability to be faced. Should such a condition of affairs occur— well, betting and all other kindred evils will follow in its wake, and instead of the game being followed up for love, it will simply be a matter of £ s. d" (OK – dollars) – W G Grace. Dec 1895

Incident before the Aus-Rest of the World series in '71.

Ackerman: (To elderly gentleman receiving him at the airport to whom he had given his bag to

carry): "Are you connected with the Australian board"? Eld. gent: "Yes"

Ackerman: "Played any cricket?"

EG: "Yes"

Ackerman: "Test Cricket?"

EG: "Yes"

Ackerman: "Really? What's your name?"

EG: "Don Bradman"

#### On Radio:

".. Marshall runs in to bowl, over the stumps. He has a forward-short leg, a backward short-leg, a square-leg and a deep fine leg".

Indian Housewife:

"Wow! The man must be a monster. No wonder all our boys are scared of him"

To Douglas Jardine who was padded up and swatting flies in Aust, 1932:

"Dont drive them away, Jardine! They are the only friends you have in Australia"

Conversation between the Indian openers after the "BLONDE STREAK" in '85.

Gavaskar: "Don't let it upset your concentration"

Srikkant: "Who am I?"



# SUBIACO - FLOREAT CRICKET CLUB (Inc) GOAL SETTING PROGRAM

# Step 1 Write down the specific goal "An important goal which I want to achieve is." Give it a time frame Step 2 "The time frame for achieving this goal is." Explain why it is important Step 3 "This goal is important because." Step 4 Note where you are now "My current position in relation to this goal is." Step 5 Identify the potential blocks "The things which may block me in achieving this goal are." Identify the resources Step 6 "The resources needed to achieve my goal are." Construct your detailed plan Step 7 "My plan to achieve this goal is."



